
Kf;fpa Fwpg;Gfs; 

mZ 

mZ vd;gJ Ntjptpidapy; <LgLk; kpfr;rpwpa Jfs;. ,J vyf;l;uhd;> GNuhl;lhd;> epA+l;uhd; 
Nghd;w cgJfs;fisf; nfhz;Ls;sJ. 
INrhNlhg;G : xNu jdpkj;jpd; mZf;fs; ntt;NtW mZ epiwfisg; ngw;Ws;sd. v.fh : 17Cl35, 17Cl37 
INrhghu; : ntt;NtW jdpkq;fspd; mZf;fs; xNu mZepiwfisg; ngw;Ws;sd. v.fh: 18Ar40, 20Ca40 
INrhNlhd; : ntt;NtW jdpkq;fspd; mZf;fs; xNu epA+l;uhd;fspd; vz;zpf;ifiag; ngw;Ws;sd.         

v.fh : 6C
13, 7N

14 

%yf;$Wfs; 
 

,uz;L (m) mjw;F Nkw;gl;l mZf;fs; mitfSf;fpilNaahd xU tYthd Ntjpf;ftu;r;rp 
tpirahy; xd;wpize;J cUthff; $baJ> xU %yf;$W MFk;. 
xj;j mZ %yf;$W : ,J xNu jdpkj;jpd; mZf;fshy; cUthf;fg;gLfpwJ. v.fh : O2 

 Ntw;wZ %yf;$W : ,J ntt;NtW jdpkq;fspd; mZf;fshy; cUthf;fg;gLfpwJ. v.fh : HCl 
 gy mZ %yf;$W : ,J %d;Wf;F Nkw;gl;l mZf;fisf; nfhz;Ls;sd. v.fh : CH4 

mZepiw myF 
mZtpd; epiwahdJ mZ epiw myfpdhy; (amu) 
msf;fg;gLfpwJ. C–12 mZtpd; epiwapy; 12,y; 
xU gFjp MFk;. 

ruhrup mZepiw 
,J ,aw;ifapy; fpilf;ff;$ba fzf;fplg;gl;l 
INrhNlhg;Gfspd; ruhrup epiwiaf; Fwpg;gjhFk;. 

fpuhk; mZepiw 
xU jdpkj;jpd; mZepiwia fpuhkpy; 
Fwpg;gpLtjhff; nfhz;lhy; mjw;F fpuhk; 
mZepiw vd;W ngau;. 

fpuhk; %yf;$W epiw 
xU Nru;kj;jpd; %yf;$W epiwia fpuhkpy; 
Fwpg;gpLtjhff; nfhz;lhy; mjw;F fpuhk; %yf;$W 
epiw vd;W ngau;. 

xg;G mZepiw 
,J jdpkj;jpd; INrhNlhg;Gfspd; ruhrup mZ 
epiwf;Fk; C–12 mZtpd; epiwapy; 1

12⁄  gq;fpd; 
epiwf;Fk; cs;s tpfpjkhFk;. ,J jpl;l mZ 
vil vd;Wk;; miof;fg;gLk;. 

xg;G %yf;$W epiw 
,J xU %yf;$wpd; epiwf;Fk;> C-12 mZtpd; 
epiwapy; 1

12⁄  gq;fpd; epiwf;Fk; cs;s 
tpfpjkhFk;. 

mtfhl;Nuh tpjp  mtfhl;Nuh $w;Wg;gb “khwh ntg;g kw;Wk; mOj;j epiyapy; rk gUkDs;s thAf;fs; 
midj;Jk; rk msT vz;zpf;ifapyhd %yf;$Wfisf; nfhz;bUf;Fk;”. 

 

  

 Nkhy;fspd; vz;zpf;if =  
epiw

mZ /%yf;$W epiw
  (m) 

mZf;fs;/ %yf;$Wfspd; vz;zpf;if

mtfhl;Nuh vz; (NA)
   

 mZf;fs;/%yf;$Wfspd; vz;zpf;if  = Nkhy;fspd; vz;zpf;if × NA (m) 
epiw

mZ /%yf;$W epiw
 × NA  

 rjtPj ,iaG =  
Nru;kj;jpy; cs;s xU Fwpg;gpl;l jdpkj;jpd; epiw

Nru;kj;jpd; %yf;$W epiw
× 100 

 STP – jpl;l ntg;gepiy kw;Wk; mOj;jepiy vd;gJ 273.15 K kw;Wk; 1 tspkz;ly mOj;jk;. 
 xg;G %yf;$W epiw   =  2 × Mtp mlu;j;jp   mtfhl;Nuh vz; (NA) = 6.023 × 1023  

 mZf;fl;L vz;      =  
%yf;$W epiw

mZ epiw
          Nkhyhu; gUkd; = 22.4 ypl;lu;/22400 kp.yp 

epiw vz; kw;Wk; mZ vz; 

  
    epiw vz;  =  GNuhl;lhd;fspd; vz;zpf;if  +  epA+l;uhd;fspd; vz;zpf;if                                          

mZ vz;  =  GNuhl;lhd;fspd; vz;zpf;if   

Kf;fpa jdpkq;fspd; mZepiwfs; 

i`l;u[d; (H) 1 fhu;gd; (C) 12 
iel;u[d; (N) 14 Mf;rp[d; (O) 16 

Nrhbak; (Na) 23 nkf;dPrpak; (Mg) 24 
ry;gu; (S) 32 FNshupd; (Cl) 35.5 
fhy;rpak; (Ca) 40 gh];gu]; (P) 31 
mYkpdpak; (Al) 27 P̀ypak; (He) 4 
 


